
RECEPTION DESK 

I USER MANUAL I 

Thanks for purchasing OmySalon Reception Desk . .  Please feel free to 
contact us if you have any problems with assembly or other after-sale 
issues. OmySalon customer service team is here to assist you.Email: 
support@omysalon.com; Website: www.omysalon.com. Please attach 
your user name or order lD so that we can serve you better. 



1

2

3

9

8

4

5
6

7

10

17
19

18
17 20

22 18 17
19

21  18

15

16

11

12

13
14

15

21



X 44+4 X 16+1 X 51+2 X 51+2 X 6+1

G X 4

M4x96

X 8+1 X 2

X 2A

M3.5x14

 B

M5x40

C

M5x42

D

15x10

F

8x30

H

M4x18

I

E

 DW

J X 1

50

K X 20

20x1

23 x 3



1 2 3 4

8765

9 10 11 12

13 14 15 16

17 18 19 20

21 22

1PC 1PC 1PC 1PC

1PC1PC1PC1PC

1PC 1PC 1PC 1PC

1PC 1PC 2PCS 1PC

1PC

1PC

3PCS 3PCS 2PCS

2PCS

1200*550*15mm 1200*550*15mm Ø8*374mm 1100*465*15mm

1100*465*15mm 785*464*15mm 464*135*15mm 1168*464*15mm

799*150*15mm 300*150*15mm 864*120*15mm 447*289*15mm

289*60*15mm 589*284*15mm 284*130*15mm 556*130*15mm

300*97*15mm 300*97*15mm 235*97*15mm 508*97*15mm

295*245*3mm 518*295*3mm



5/32



16 mm

X 4A

M3.5x14

25

1

16 mm

A

A

A

A

23

7

7



7

11

 B

M5x40

X 2

B
B

2

11

7

B B



X 4A

M3.5x14

X 4C

M5x42

23

6

6

23

6

6

23

23

A

A
A

A
AA

C
C

C

C
C

C

6

6

3



X 2D

15x10

11 6

11 6

D

D

D

4



X 4C

M5x42

X 4D

15x10

8

8

6

C

C

C

C

C

C

C

D

D

D

D

D

D

5



X 2C

M5x42

X 2D

15x10

10

9

10

D D

D

6

10mm 10mm

C

C

C



X 4C

M5x42

X 2A

M3.5x14

23
5

A
A

A A

C

C

C

C

C

23

5

5

5
23

A

7



X 6C

M5x42

X 2A

M3.5x14

23

4

A A

23

4

4

A
AC

C
C

C

C
CC

8



X 2D

15x10

X 2F

8x30

X 2 B

M5x40

10

8

12

13

6

810 13

12
6D

D

D

F F

10mm 10mm

B

B

9



X 6D

15x10

4
8

9

49

8

D

D

D

D

D

10



X 4D

15x10

3

X 2F

8x30

5
12

10

13

12

5

D

D
D

D

D

F
F

FF

10mm 10mm

13

11



X 19C

M5x42

1

2

2

C

C

C

C

C

C

C

C

C

C

C
C

C

C

C

C C C C

C C

1

12



X 2F

8x30

1

21

2

F

F

F

15mm 15mm

13



X 19D

15x10

1

2

1

4

4

8

5

8

D

D

D

14



 X2
17

18

19

2217

18

X 12 B

M5x40

 X1

18 

19 20

B

B

B
B

B

B

B

B

B
B

15



 X2
21

19

20

22  X1

16



X 12C

M5x42

 X2  X1

15 16

C

C

C

C

C
C

17



 X2
21

15

16

20

X 12D

15x10

X 3G

M4x96

X 6H

M4x18

 X1

18

17

18

17

D

D

D

D

D

D

G

G

G

H

H

H

H
H

18



 X2

15

16

23

23

23

23

X 12A

M3.5x14

 X1

18

17

23

18

17

23

23

23

17

18

20

19

A

A

A

A

A

A

A

A

A
23

18

A
23

18

A

A

A

A

19



 X2

15

X 2I A X 8

M3.5x14

15

I

I

I

I A

A

A

A

A

20



E X 2

 DW

A X 4

M3.5x14

X 1G

M4x96

X 2H

M4x18

14

14

14

AE AE

E E

E E

E

G

G

H H

H H

21



A X 8

M3.5x14

14

5

5 14

A

22



If there is misalignment after you install,
adjust the screw to the best condition



J X 1

50

K X 20

20x1

8

8

J

4

4

5

K

23


	
	图纸和视图
	模型





